#4 from yesterday: Find angle that maximizes distance
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We want to maximize

h(9) = % - cos(f) (30 sin(0) + \/900 sin?(6) + 392> on [_g g}
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h(0) = % - cos(0) <30 sin(0) + \/900 sin?(6) + 392) on [_g g}
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We want to maximize

h(9) = % cos(h) <30 sin(0) + \/900 sin?(6) + 392) on [_g g}
u v

Find the critical points on the interval: V'

A
h(9) = 0 cos(8) | 30 cos(d) + 900sin(6 )cos(9)
= \/900 sin(#) + 392

+ f—sm <\/9005|n +392+3051n(9)>
u’ v
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We want to maximize

h(9) = 30 cos(6) (30 sin(0) + \/900 sin?(6) + 392> on [_g g}

Find the critical points on the interval:

h'(6) = % cos(9) [ 30 cos(¢ 900 sm(9) cos()
‘ \/900 sin(#) 4 392

- —sm <\/9005|n +392+30sin(0)>

h'(#) =0 = 6 =0.695499 radians = 39.84°
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Check values at endpoints and critical points

0.695499 | 110.034 m

N
™ o
+§ ’ ﬁ

150
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3|
Let 7 = / e™) dx
0

1. Approximate Z using Lsp, a left sum with 50 subdivisions

2. Use a Maclaurin polynomial to approximate Z

3. How close are your answers?
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